dooooooogd
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1 0O0O: struct unit
1.1 OO

e [0 [: unit_type
e [J[: struct image

— O: int width

— O 0O: int height

— 0 0: int angle
e O0: int x, int y
e J00: int level
e JODO: int cost
O00O0000: gboolean fire_frag
e 0 000O: int bullet_type
O00000: gboolean exist_flag

12 00O

00 (000D00000000): void draw()

00 (000000000000 0DOO): void delete()

0000000 (0000000 ): void upgrade()

e 0000 (D0D0DO0D00D00DO0000): double linear_prediction()
000000: int select_enemy/()

000000000: void load file()



2 0O: struct enemy
21 00O

e [1[: struct image
— O: int width
— 0 0O: int height
— 0 0: int angle
e O0: int x, int y
e [1[: int enemy_type
O00000: gboolean exist_flag

O00000: gboolean appear_flag
O00O000: gboolean goal flag

e 0 0: int reward
O0000: int life

e J0DODO: int spped
O0000000: int damage

22 00O

e 00 (00D0D00D0O0OD0): void draw()

e« 00 (00D0D00O0OO0D0D00D0D0DO): void move()
e J0DDOODDOOO: gboolean collision_detection()
e J00DODOODODODO: void load-file()



3 0O: struct bullet

31 00

e [1[: struct image
— O: int width
— 0 0O: int height
— 0 0: int angle
e O0: int x, int y
O O : int bullet_type
OO0000: gboolean appear_flag
O00000: int damage
e 000D : int spped
e 0000 : int degree

00O : int property

32 00

e 00 (000DDOODDODOUOODDODOO): void draw()
e 00 (000DOO0ODOO0DDO): void move()
e 00O: void attack()

- 00000 (0O0ooooooooooooo)

- 000000 (DODO0ODO0ooDOoooOooooon)
e 000D ODDODO: void load-file()



4 [0 0O0O: struct map
41 00O

e [1[: struct image
— O: int width
— 00: int height
e [1[0: int x, int y
e 0000 : int traffic_flag
- 00
-0
- 0oo
- 0og

42 00O

e 00 (DODOODO): void draw()
e JIODODOODO: void load file()



5 0O 0O0O0O: struct system

51 OO

e [1[: struct image
— O: int width
— 0 0O: int height
e wave [ 0 : int wave_number

00000000 OO: int life

e (10 0: int money

52 00O

e 00O O: void save()

e 0O0O: void load()

00 (D0000O0OwaveJO0D0O0O00O000OO0OOO0OOOOO): void draw()
00000000 (0000000000000 000000O0wavedO): void set()



